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% BURORBBICED. 1 mispkhBHAS0MMES I SNBMERAVLEYS (B - EPHAHRBZEEINREZE)

OAZBEETEI5E
HAOHZARE = BEARE + (SRENE ERE) x AXIERS)
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om 946 om | 2,929 20m | 4,742 30m | 6,387 som | 8,031 50m | 9,675
i 1,144 11m 3,127 21m | 4,907 31w | 6,551 41m | 8,195 51 | 9,828
2m 1,342 12m 3,325 22m | 5,071 32m | 6,715 a2m | 8,360 52 | 9,982
3m 1,540 13m 3,524 23m | 5,236 33m | 6,880 43m | 8,524 53m | 10,135
am 1,739 14m 3,722 24m | 5,400 34m | 7,044 a4mi | 8,689 54m | 10,288
5m 1,937 15m 3,920 25m | 5,564 35m | 7,209 45m | 8,853 55m | 10,441
6m 2,135 16m | 4,085 26m | 5,729 36m | 7,373 a6m | 9,017 56m | 10,595
7m 2,334 17m | 4,249 27m | 5,893 37m | 7,538 47m | 9,182 57m | 10,748
8m 2,532 18m | 4,413 28m | 6,058 38m | 7,702 a8mi | 9,346 58m | 10,901
9m 2,730 19m | 4,578 29m | 6,222 3om | 7,866 49m | 9,511 s5om | 11,054
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